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QUESTION 1

Which two statements are true about delegation as an Object-Oriented Design technique?
A. Itis applied to a system only at compile time.

B. It is an essential element of the Singleton pattern.

C. It allows you to replace Inheritance with composition.

D. In Java technology, it is always implemented through the use of generics.

E. It always requires that at least two objects are involved in handling a request.

Correct Answer: CE

QUESTION 2

Which three actions restrict the ability of a web application to scale in response to load as additional computing
resources are made available to it?

A. Implementing the Singleton pattern in the web tier

B. Implementing core business logic in the web tier 100% Real QandAs | 100% Real Pass
C. Implementing core business logic using stateless session beans

D. Storing users\\' session state in a database

E. Maintaining users\\' session state by using stateful session beans

Correct Answer:. ABE

QUESTION 3

A travel company re-architects its application from a two-tier to a three-tier architecture. To see what impact the new
architecture has on its non-functional requirements (NFR), the company intends to build a prototype based on the new
architecture.

The company compares the NFR metrics associated with the new prototype against the metrics from their original two-
tier solution.

Which option is an advantage of the original two-tier solution?
A. It has better availability because it has fewer single points of failure.

B. It has better manageability because each client has its own copy of the application. 100% Real QandAs | 100% Real
Pass

C. It has better performance because each client must use its own set of domain objects.
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D. It has better scalability because each client can access the database independently of other clients.

Correct Answer: A

QUESTION 4

Your CMC wants to move several web based search applications to an AJAX model, hoping to improve user
engagement with a browser experience that feels smaller and more responsive.

Which identifies a drawback to consider when adopting an AJAX model to improve user experience?
A. Maintaining current performance could require more hardware.

B. Maintaining accessibility across clients may require more development.

C. Maintaining security within the page could be more difficult.

D. Maintaining page navigability for users would have to be re-evaluated.

E. Maintaining a scalable system could require redesigning applications.

Correct Answer: C

QUESTION 5

MedLabML is a startup firm that moves patient data between different care providers to provide a "single patient view".
They use a B2B system to exchange electronic business document with their key suppliers. They are seeking your
advice about standards to review for improving their message-level security.

Which standard or API would you recommend they read?

A.SAML 1.1

B. Web Service Interoperability Technology

C. XML Signature

D. SSL

Correct Answer: B
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